EXAM 3
Math 2433
12-3-04
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Instructions Work all of the following problems in the space provided. If there is not enough room, you may
write on the back sides of the pages. Give thorough ezplanations to receive full credit.

1. (16 points) In the diagram, the vertices of the triangle ABC are at A(0,5,1), B(6,3,5), and C(6,2,4).

a) Find the cosine of the angle at A.
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b) Show that the angle at C is a right angle.
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2. (10 points) In the diagram, a = 0P =
segment from P to Q. Find
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3. (12 points) A sphere has center at C(0,3,4) and radius 5.
a) Write an equation of the sphere. @ @
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b) is the point P(4, 1, 8) inside the sphere or outside the sphere? .Explain your answer.
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4. (10 points) A line passes through the point P(—4,6,1) and is parallel to the vector (2,—2,1). Find the
coordinates of the point where this line intersects the yz-plane.
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5. (22 points) Find the equation of the plane passing through the points A(—2,1,1), B(4,5,3), and C(2,1,2).
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7. (20 points) The planes —2z — y+2=12 and —z + 3y — z = 6 intersect in a line L. Find parametric
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